A & 0ol & AF S H Al A

05T =F 2 3 +EIMNLASESH
200 M2S
2210 ZARAIRISY
& 216 OIXt2 (&)
o @odo 5 Ofl &F oH Jl & o Hu=s2
=z 7,457,000 7,090,000 367,000
200 M2l 2,360 2,29 68
210 ZAXAI2I 2,360 2,29 68
216 Ol Xt 2,360 2,292 68
216-01 330201 X4 2,360 2,29 68
<EBALSY > 2,360 2,29 68
OZB30I2 0IXt2 33 2,360,0002 2,360 2,29
50 EX32 4,113,125 3,757,817 355,308
510 2DEX3E 4,113,125 3,757,817 355,308
511 2NBX3E 4,113,125 3,757,817 355,308
511-03 JI1=2 4,113,125 3,757,817 355,308
<EABS > 4,113,125 3,757,817 355,308
odsZLAH22II2 4,113,125 3,757,817 355,308
== PIEINP=IE ] 1,490,560 1,128,000 362,560
HOi(AE)s0E 23 700,560,000 700,560 338,000 362,560
—SHI|IEAIE 29 1,274,134 1,274,135 N
BEI|ZAIE 29 SSoteHelAE
23 1,116,038,0002 1,116,038 1,116,039 A1
—QAZTAIMAE 0TI} AF 59,535,0002 59,535 66,786 AT7,251
700 BESASLUHEHH 3,341,515 3,329,891 11,624
710 BX%US 722,515 710,891 11,624
712 ATO0IES 11,470 0 11,470
712-01 2DEEZAIEEH 11,470 0 11,470
<EBALSY > 11,470 0 11,470
O DB XA TH (A 11,470,790 11,470 0 11,470
715 BEX3SHE3 154 0 154
715-01 2 N2 X3 SLHE3 154 0 154
<EBALSY > 154 0 154
Q204 JIE2L33HelAlE 2ZHI(0IXt)
154,6602 154 0 154




N =

= 0l &F Ak

Al A

2A: eSS
& Q- H= 2e|(2HE/40E - 2F)
ool SZOHH 2| (FERESESIA) (SH9: &)
M- 38 . SA(3) - MRAY == Ofl kel | & A Hlns
25 7,457,000 7,090,000 367,000
Q- H 2A2(BH/MOIEE - 2T) 4,836,554 4,845,961 N9,407
SEDNEZE(FTINESLESIAH) 4,836,554 4,845,961 N9,407
E bS] 82,893 83,493 AB00
202 Ot 5,400 6,000 AB00
01 204t 5,400 6,000 2600
OFZH AlZ2AF KHI(0 A E2)
A 2,430,000 2,430 2,700 A270
OLAUEEM ZAF OHI(0IAHE )
&3 810,000 810 900 AD
Ot SIStz oHl(oarE2)
33 2,160,000 2,160 2,400 240
(R)H=222| O|HBIMHIZ 59,535 66,786 N7,251
207 ARIHEt| 59,535 66,786 N7,251
01 AR ESY| 59,535 66,786 N7,251
OLLIAEZH AIHHE O|HE It
AH 59,535,000 59,535 66,786 N7,251
(2)EIZAE 29 0ISol=ZAE 29 248,096 158,096 90,000
201 LEeH29Y| 248,096 158,096 90,000
2 Z229Y| 248,09 158,096 90,000
OlIE5t4ZAIE ®I2S
&3 190,000,000 190,000 100,000 90,000
(2)ESLEH FOURAA (LR AAY) 824,227 824,227 0
307 QI2+0|& 576,743 566,980 9,763
04 CIZFHAIAIR B X 569,843 560,080 9,763
O0tS=E X8 AL A 569,843,000 569,843 560,080 9,763
401 AlEHI L] 8,000 23,463 ~15,463
01 Al&HI 8,000 23,463 ~15,463
O0CTV & X Z& 3,000,000 3,000 18,463 ~15,463
402 QI2EXH=20| A 152,775 147,075 5,700
02 QI XHE AL E X (01 FTHS) 152,775 147,075 5,700
OYs 7Y aY 72,570,000 72,570 78,070 5,500
ONI2BSAIE B4
AE 35,662,0002 35,662 34,662 1,000
Oz &X & 5,080,000 5,080 10,343 15,263
O0CTV & X 15,463,000+ 14! 15,463 0 15,463
oleIHl 386,880 478,436 A91,556
801 GilBIH 386,880 478,436 ~91,556
1 2ekoiidlg] 386,880 478,436 N91,556
OO0l 2 386,880,000 386,880 478,436 ~91,556
WREs (222 (8Hd/40teE - 28) 2,620,446 2,244,039 376,407
HEHHRIE (BN S L) 2,606,598 2,244,038 362,560
(2)EFIEAE &R 2 H(HEHHRS) 1,490,560 1,128,000 362,560




2N SEES
Mz LRSS (SEES ) (B / Mol - £=8)
B2 WRHAHRIS(SEIMESLESIA) (SH &)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hlus2
701 JIEISI HSHEZ 1,490,560 1,128,000 362,560
01 JIEtHEES 700,560 338,000 362,560
odgt(atE) soE
J3& 700,560,000 700,560 338,000 362,560
BEXS(LEMEELESIH) 13,848 1 13,847
B = 13,848 1 13,847
802 Btat=a | EF 13,848 1 13,847
01 =20EXx3EEZ3 13,848 1 13,847
O20244 11,830 0 11,830
—F0IX A B & BRI
1,059,850 * 14 1,060 0 1,060
—F0IX ALY EHOF L BRI (0IA)
8,680 & 14| 9 0 9
—ot& ot MY D] HIAY
84,3803 * 14! 85 0 85
—ol&ot2MY Il HSAIR (Ol
5,550 * 14 6 0 6
—Qg=zzae| Ols#EI HIE
7,728,000& * 14| 7,728 0 7,728
—QoEgrae| OIMEIF HIE(0IX)
80,6003 *14! 81 0 81
—gEaae| thiEAZAd 2LHY
1,196,000 14! 1,196 0 1,1%
—QEEaA| HIEAZAE 2LIEE (0
x4 12,4703 * 14| 13 0 13
—S8I|IZAE 29 OiSot=Ald 29
1,486,940 * 14 1,487 0 1,487
—EHI|ZAE 29 OISols=ZAId 29(
OIXH) 9,540& * 14 10 0 10
—IIEEL33HelAlE 294l XI& (01X
154,660 * 14! 155 0 155
O20238 & 2,018 1 2,017
—CEHE2 FNHOISAMS(0IR)(ESY A
2) a8 03 0 1 A
—SS2ALAHIIZ FUXNAAG XI2ACH4
HE A Y 2,000,000& * 14| 2,000 0 2,000
—SsZ==H0|Ia FUXZAE XI2AHA
SN A ZS(0IX})
17,6703 * 14| 18 0 18






